
INSTRUCTIONS FOR:

CONCERTINA PANEL STAND
Model No: MK57

Thank you for purchasing a Sealey product. Manufactured to a high standard this product will, if used according to these instructions 
and properly maintained, give you years of trouble free performance.

IMPORTANT: PLEASE READ THESE INSTRUCTIONS CAREFULLY. NOTE THE SAFE OPERATIONAL REQUIREMENTS, WARNINGS AND CAUTIONS. 
USE THE PRODUCT CORRECTLY AND WITH CARE FOR THE PURPOSE FOR WHICH IT IS INTENDED. FAILURE TO DO SO MAY CAUSE 
DAMAGE AND/OR PERSONAL INJURY AND WILL INVALIDATE THE WARRANTY. PLEASE KEEP INSTRUCTIONS SAFE FOR FUTURE USE.

Thank you for purchasing a Sealey product. Manufactured to a high standard this product will, if used according to these instructions 
and properly maintained, give you years of trouble free performance.

IMPORTANT: PLEASE READ THESE INSTRUCTIONS CAREFULLY. NOTE THE SAFE OPERATIONAL REQUIREMENTS, WARNINGS AND CAUTIONS. 
USE THE PRODUCT CORRECTLY AND WITH CARE FOR THE PURPOSE FOR WHICH IT IS INTENDED. FAILURE TO DO SO MAY CAUSE 
DAMAGE AND/OR PERSONAL INJURY AND WILL INVALIDATE THE WARRANTY. PLEASE KEEP INSTRUCTIONS SAFE FOR FUTURE USE.

		  1.  SAFETY INSTRUCTIONS

		  2.  INTRODUCTION 

	 DO NOT place hands, or any other part of your body within the concertina structure at any 	
	 time.
	 Maintain stand in good condition (use authorised replacement parts).		
	 Keep the stand clean for best and safest performance.
	 Locate the stand in a suitable work area.
	 WARNING! Use stand on level and solid ground, preferably concrete.
	 DO NOT overload the stand.
	 DO NOT climb on the stand.
	 DO NOT use stand for any purpose other than for which it is designed.
	 DO NOT use the stand if any parts are damaged or missing as this may cause failure and/or 	
	 personal injury.
	 Keep the work area clean, uncluttered and ensure that there is adequate lighting.
	 Keep children and unauthorised persons away from the work area.

Extending and height adjustable stand, ideal for a variety of applications. Mounted on smooth 
rolling castor wheels with brake. Soft foam padded arms help prevent damage to workpiece. 
Ideal for professional bodyshop use.

MK57    Issue No:1   11/01/10



		  3.  ASSEMBLY INSTRUCTIONS
NOTE: Numbers in brackets refer to the component numbers in Fig.2.
3.1	 Assemble the two concertinas using 6 square tube components (12) either side. Each 	
	 joint should be assembled using one 1-1/4" x 1/4" screw (7), three 1/4" washers (8), and 	
	 one 1/4" lock nut (11). Leave the joints loose enough to allow the concertinas to open 	
	 and close. Assemble 3 pairs of crossed tubes first then join them together into a six 
	 segment concertina. Repeat the process for the second side. Match the two concertinas 	
	 together so they are both the same height and length.  
3.2	 Attach two castor wheels to each bottom supporter (4) using two 3/8" washers (2), and 	
	 one 3/8" nut (3) for each castor wheel.
3.3	 Over each upright of each bottom supporter (4) slide two set tube components (6). 		
	E nsure that the threaded hole in each set tube will be facing away from the assembled frame.  	
	 Screw a knob (5) into the four lower set tubes (6). Do not tighten at this stage. Insert a screw 	
	 (13) into the four upper set tube components. Do not tighten at this stage.
3.4	 Slide a top supporter (9) into each bottom supporter (4). Set both top supporters at the 	
	 same height and insert a pin (10) into each upright to retain them.
3.5	 Take one end frame and attach a concertina to one of the uprights. Connect it to the 	
	 lower set tube (6) using one 1-1/4" x 1/4" screw (7), two 1/4" washers (8), and one 1/4" 	
	 lock nut (11).
3.6	 Slide the upper set tube (6) up the upright and align it with the upper end of the 
	 concertina and connect the two using one 1-1/4" x 1/4" screw (7), two 1/4" washers (8), 	
	 and one 1/4" lock nut (11).
3.7	 Attach the other end of the concertina to the other end frame in the same manner.
3.8	 Attach the other concertina to the other side of the end frames.
3.9	 With the set tube components (6) still loose, close the stand right up ensuring that the 	
	 lower set tubes are resting on the frames. Tighten the screws (13) in the four upper set 	
	 tube components to lock them in place. 
3.9	 To test the action of the concertinas, ensure the four lower set tubes are loose. With the 	
	 aid of a second person open and close the stand. Keep hands out of concertina area. If 	
	 the action is too loose, tighten the concertina joints. If the action is too tight, loosen the 	
	 concertina joints.
3.10	 When the action of the concertinas is satisfactory the stand can be locked at any length 	
	 by tightening the knobs (5) on the lower set tube components.

MK57    Issue No:1   11/01/10

		  4.  operaTION 
4.1	 Match the length of the stand to the 	
	 length of the panel to be sprayed by 
	 opening or closing the concertinas. 
4.2	 To do this, loosen the knobs on the four 	
	 lower set tube (6) components and with 	
	 the help of a second person expand or 
	 contract the stand as required.
4.3	 Retighten the knobs on the four lower set 	
	 tube components to lock the stand.
4.4	 Set the height of the end frames as 	
	 required by removing the locking pins 	
	 and raising or lowering the upper 	
	 supports and reinserting the pins. 
4.5	 Place the panel onto the stand and check 	
	 that it is stable before moving the stand.
4.6	 When the stand is in the processing area
	 lock the castor wheels. Fig.1



1	 Wheel	 (4)
2	 Washer (3/8")	 (8)
3	 Nut (3/8")	 (4)
4	 Bottom supporter	 (2)
5	 Knob	 (4)
6	 Set Tube	 (8)
7	 Screw (1/4" x 1-1/2")	 (22)

8	 Washer (1/4")	 (74)
9	 Top supporter	 (2)
10	 Pin	 (4)
11	 Lock nut (1/4")	 (22)
12	 Square tube	 (12)
13	 Screw (3/8" x 5/8")	 (4)
14	 Foam	 (2)

Fig.2

NOTE: It is our policy to continually improve products and as such we reserve the right to alter data, specifications and component parts without prior notice.
IMPORTANT: No liability is accepted for incorrect use of this product. 
WARRANTY: Guarantee is 12 months from purchase date, proof of which will be required for any claim. 
INFORMATION: For a copy of our latest catalogue and promotions call us on 01284 757525 and leave your full name and address, including postcode.

01284 757500

01284 703534 sales@sealey.co.uk

Sole UK Distributor, Sealey Group, 
Kempson Way, Suffolk Business Park, 
Bury St. Edmunds, Suffolk,
IP32 7AR

www.sealey.co.uk
Web

email

MK57    Issue No:1   11/01/10

Parts support is available for this product. To obtain a parts listing and/or diagram, please log on to 
www.sealey.co.uk, email sales@sealey.co.uk or phone 01284 757500.


